
5 8 155)-+ 6 
8 3+6 

8 +3 

G (Yx2 2)- (42)| +8 
8 8 t8 
8-2+8 



divisi le 5 Find ohich of dhe tollouoing numberS are divissli 

1332 
Sum m_o o its dgits 1s dlvisiole byy 49 he 

heretore 132 s divisihle by 9 

he Sum of its digits is mdiyisible by9 The 
ii53244 

here tov 53 2 Hs not din silsle by9. 

The Sum of its digds is du Si lele by 9 
Y68 



Dste 

pago 

There tor e 468 ts hoft divisikle by9. 

200 3/y 
Sum ot its darts is not diisible by 9 
ToexetoY 20D 31 3not di visible loy 



.ind which of the follb oing numbers ae 
divisible by 5 

508 
Theuntk digit s 0 So it is dii'siLle by S. 

6666 



Date 
Pege 

The inis olig
is neither O noY 5, So _t 
hot divisilhle by 

s 

n755 
Tke units digit is 5So Ps divisille L, e 

The untf s dig ts So t is not divisible 
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